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m=9.1.10 آ�
�7 ن���6 إ�9��و kg 7�)��q=1.6.10 و C#�C)9ا 
 *&�	#  O   �4%ل �!(%3�&�% �(�1'% ن �
v0=7.9.106m/s %(�(4�� ، v0 2&�3%)!'94)# ا9'4%ل ا�� �
���B  7 	'�د�# 	B=10-3T .  

  . �9��ون أ�%م ا�C9ة ا9'!(%3�&�# �)'� وزن ا^
   ــ *�
 أن ?�آ# ا^�9��ون دا�6 ا9'4%ل ا9'!(%3�&2 ?�آ# �(�1'# 1
2 #9Q�* ع ا9'&%ر%-�Rا?&[ اP9-%ع  .   v0,e,B,m ــ أو"� �-��� 
3 #9Q�* �"ــ أو m,e,B #�)�>9ا9'�ة ا ���-� T #
   . T[ أ?&.  اH�!�&� 2�9)% ?�آ# ا^�9��ون ^�4%ز دورة آ%�

  

++���� $�ز ا���G%ت 23
2

24
2 , HeHe %'ه%�
 ���6 ا���G%ت $2 �4%ل m4=6.7.10-27 و m3= 5.10-27kg إ��%	% آ�

 ���� #�
 رأ����
 Uآ)��%آ
 �(�01 ���ث *�ا�����+� 
�* :��� P1 و P2 #�C)9ا �   . A 9�&��-)'% إ9
++  ــ  �]�ج ا���G%ت1 23

2
24

2 , HeHe
�  #�C)9ا A @*%��9ا �
	 

 
��	�&9%*v1و v2 #�C)9ا �)	 

 ا . O �)'� ا9&�	��	 ��	 
��	�&9v1 
��%ت اv2 \)9و -� #9Q�*  . ]&?أv1و  v2 .   
2 #�C)9(� ا	ت ، %���Gــ ���6 ا A %'1�)� %�&�3%)!� Q%4� ، B %د��'	 

 
� ��4)�2 ا9&�	��
	v1و v2 ل%�C��^ا #C�)� �� ا��P9  ا-'9�MP #) و��� إ9
	  .  

 MPا?&[ ا9'&%$# �* #
��2 وM @H و P ا9+%�C� ت%���Gا++ 23

2
24

2 , HeHe

 #C�)� �
�2  . ا���C%ل 	-�U =104V و B=0.5T  

 
���
��� 
���
	 
��� ��� D2 و �D1���ن ���
���ون � �
	 

 �+�� *�()'% �&%$# "� �!��ة ��,�+� 
 %'(	%-�  . أ�%م 

���B 7ا�6 آ� 	
�# �4%ل �!(%3�&2 �(�01 ��"� د B =0.14T  .   

 ����ا 1���

 ا9-�* :��
 ا��9و���%ت �
 .  و��"�% �%*>%  U ــ �� #�>? :
�)�

	(�  ، ?�B ���ن ��	# آ� *�و��ن D1 ، $��0 �&�	)% ��� ا9-
�# Sا9'(�@ 
 #�C)9و��79 اA 2ه  :v1=4.38.105m/s   

���: اH�-9# ا2�G ــ 1�*  #'�H �"أو I��%)��
9 #��%R1  ي�Kع ا9'&%ر ا�9ا%-� ، 
9
��و��ن دا�6 D1 .   


 أن .  ��9آ# ا��9و��ن T أو"� H�'# ا�9ور 2 ــ 1�*T #	�&* N���� ل 
 Oع �&%ر%-P* Qا��9و��ن و .  

2 � ، U $2 ا9
�1# ا9�2 ��!�� 	(�ه% إ�%رة اB1 ����9 ــ ��� ا��9و��ن إ9
�" 
   ��D2 ، ��� ا9-
�# $��&�ع ا��9و��ن ، �

���: ���ه(# ا9�%H# ا��9آ�# ، أو"� ا9&�	# 1 ـ 2�* v2 #�C)9(� ا	و��ن ��
9 
A2 أن %'
	 ، U =-2kV رن%H vو  v2   .   

 2 ــ2��9 R2 #�
�-%ع �&%ر ا��9و��ن دا�6 ا9- D2 أن �
	 
   . R2>R1 *�ه
�# 3 ــ 2C)9ا �
 "���  ، ��!�� إ�%رة اB2��9 	(� و��ل ا��9و��ن إ9� �� . � . ��B2 ?�آ# ا��9و��ن *-� و��79 إ9


'W أن إ�%رة إذاا��(�U وT�+# ا9&��
���ون ، 	 U %دور� ��!��  .  
�2 آ�
# ا��9و��ن   -�m=1.67.10-27kg   

��(# ا��9و��ن  e = 1.6.10-19C   

أ���ا���

  تمرين  4

 ��&N :�<� ون�

�ق إ��O@L =10cm �6*�� �	�1� v0 = 107m/s    ل آ��/�آ��<�� +\O� f69 E� ���'

H5 و���  ��<
   . v0+ ا��

�� ا���آ�6 ��ثن	�� M�وج ا^��
�و`�N ا ا��>�ل @�&نLا�;�*�6   �� ه ��
`�N ات��

E ــ  أو%� إ�9ا��6ت ���� M�وج ا^��
�ون �� ا��>�ل ا����/�آ� 1  


����� 2. ا��>�ل ا����/�آ� 2�   ) S إ�  ) �� O ــ  أو%� R(, ا��&ة ا������*�6 	�� ا
E/�آ� �ل ا��� ــ أو%� `��6 ا��>�3
  De ــ أW19 `��6 زاو�� ا:���اف ا^��
�ون 4

m = 9.1.10-31kg  , e = 1.6 .10-19C               
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تمارين حول حركة دقيقة في مجال كھرساكنتمارين حول حركة دقيقة في محال مغنطيسي
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